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PART -1

GENERAL STUDIES
Which district of Uttarakhand has the maximum forest area ?
(a) Uttarkashi (b) Pauri Garhwal (c) Nainital (d) Chamoli

Match the Lakes given in List-I with the Location in List-1I and find the right answer from
codes given below :

List -1 List — 11
A. SatTal 1.  Kashipur
B. Dron Sagar Tal 2. Uttarkashi
C. Dodi Tal 3. Nainital
D. Birahi Tal 4. Chamoli
Codes :
A B C D
(@ 1 2 3 4
(b) 3 1 2 4
(c) 2 1 3 4
d 4 2 1 3

Which tributary of Alaknanda river has its confluence at Rudraprayag ?

(a) Dhauli Ganga (b) Birahi Ganga (c) Pindar (d) Mandakini
Which Himalayan zone receives highest rain during monsoon period ?

(a)  Shivaliks (b)  Outer Himalaya

(c) Inner Himalaya (d) Equal in the above three

Which soil is most suitable for the cultivation of Tea crop ?

(a) Pasture soil (b) Brown, red and yellow soil

(¢) Sandy soil (d) Light clay alluvial soil

As per the Census 2011, in Uttarakhand district Nainital stands at

(@) 2" place (b) 3" place (c) 4" place (d) 6" place
Which one of the following tribe traded with Tibet, before 1962 China War ?

(a) Raji (b) Boxa (c) Bhotiya (d) Tharu

At which place people of Uttarakhand vowed not to follow the “Coolie Begar”, in January
19217

(a) Bageshwar (b) Someshwar (¢) Rameswar (d) Pancheswar
‘Koteswara’ — dam is being constructed on the river

(a) Alaknanda  (b) Dhauli Ganga (c¢) Bhagirathi (d) Birahi Ganga
The first dairy federation of Uttarakhand was established at

(a) Dehradun (b) U.S. Nagar (c) Haridwar (d) Haldwani

In which year the “Uttar Pradesh Zamindari Abolition and Land Reform Act” was passed ?
(a) 1950 AD (b) 1951 AD (c) 1952 AD (d) 1953 AD

In which year the Garhwal Division was established ?

(a) 1964 (b) 1969 (c) 1972 (d) 1982

How many seats are reserved for Scheduled Tribes in Uttarakhand Assembly ?

(a 01 (b) 02 (c) 03 (d 04

Operation Smile of Uttarakhand police is related to

(a) Children (b) Old person (¢) Women (d) Transport
‘Mudra Rakshas’, who died in June 2016, is famous as

(a) Theatre Director (b) Classical Singer

(¢)  Sanskrit Scholar (d) Hindi Novelist
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A B C D
@ 1 2 3 4
® 3 1 2 4
¢ 2 1 3 4
d 4 2 1 3
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(a) =RITRI JaT (b)  {, T T fredt gaT
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Under which article the ‘President Rule’ was imposed in Uttarakhand in the year 2016 ?

(a) 346 (b) 376 (c) 356 (d) 386

Name the harmful chemical used in Bread preparation ?

(a) Ethyle Bromate (b) Potassium Bromate

(¢) Calcium Carbonate (d) Methyl Chloride

Which group is known as the first ethnic group of Uttarakhand ?

(a) Kol (b) Kuninda (c) BanRaji (d) Hoona
Where was the first capital of Panwar Rulers ?

(a)  Srinagar (b) Tehri (c) Devalgarh (d) Chandpur Garhi
Who was the editor of the “Garhwali Samachar Patra™ ?

(a) Vishwambhar Datt Chandola (b) Lalita Prasad Naithani

(¢c) Mukundi Lal (d) Suman

Which freedom fighter is called the Hero of Peshawar episode ?

(a) Sridev Suman (b) Khan Abdul Gaffar Khan

(c) Chandra Singh Garhwali (d) Jawahar Lal Nehru

In which, among the following years Tehri Kingdom merged with Independent India ?
(a) 1947 (b) 1949 (c) 1950 (d) 1965

Who among the following have been awarded ‘Khel Ratna’ in August 2016, by the
Government of India ?

(a) Rani Rampal, P.V. Sindhu, Sakshi Malik and Shiva Thapa

(b) P.V. Sindhu, Deepa Karmakar, Jeetu Rai and Satti Geeta

(c) Jeetu Rai, Sakshi Malik, P.V. Sindhu and Deepa Karmakar

(d) Shiva Thapa, P.V. Sindhu, Sakshi Malik and Deepa Karmakar

Which among the followings has been included in the list of World Heritage, by
UNESCO in July 2016 ?

(@)  Sun Temple of Konark

(b) Sunderban National Park

(c) Sanchi Stupa

(d) Archaeological site of Nalanda Vishwa Vidyalaya

As per 2011 Census, what is the rank of Uttarakhand on the basis of population ?
(@ 29" (b) 20" @ 15" (d 10"

Read the following statements (A) and (B) and select the correct answer from the code

given below :

Statement (A) : The sex ratio in the hill districts of Uttarakhand is higher than those in
plains.

Statement (B) : The males from the hill districts migrate in search of employment.

Codes :

(a) Both (A) and (B) are true. (b) Both (A) and (B) are wrong.
(¢) (A)is true, but (B) is wrong. (d) (A)is wrong, but (B) is true.
What was the basis of States” Reorganisation Act, 1956 ?

(a)  Size of the states (b) Natural resources

(c) Language (d) River water dispute

Who was the first King of the Tehri State ?

(a) Man Shah (b)  Sudarshan Shah

(c) Medini Shah (d) Yajuvendra Shah

Kumaun University, Nainital was established in the year
(a) 1975 AD (b) 1978 AD (¢) 1973 AD (d) 1971 AD
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16. o9 2016 ¥ STEE H “Teuq IMG W= & {oha SFTwvg o STd ommar 717 o7 2
(a) 346 (b) 376 (c) 356 (d) 386
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(c) TG At (d) SRS TEE
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(a) IO B G AT (b) T T U
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26. = FAET (A) 3T (B) i UleU X 19 KU T $2i H T Wl ST T T9 HIT :
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T

(@) (A) T (B)IHT W& | (b) (A)TaT (B) I AT € |

() (A)WEE, g (B) T T | (d) (A) e T, fhg (B) @ET T |
27. AT % YA AR, 1956 T SR T o7 9

(a) 91 BT BN (b)  TTHAS TE@EA (c) 9T (d) & 5 foars
28. fo&dt Raraa =1 wed =T i o1 2

(a) |HIE (b) I W@ (c) Wi vmE (d) TSRS IIE

29. FAW favatammer, S=idret S T g2 off, a9
(@) TI19755H (b) WAI978TH () TAI973TH  (d) TAI971EH
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30. Where the I.I.M. in Uttarakhand is situated at ?
(a) In Dehradun (b) In Pauri (¢) In Haridwar (d) In Kashipur

31. The State Public Service Commission presents its annual report to
(a) The Chief Minister
(b) The Home Minister
(c) The Governor of the State
(d) The Chief Justice of the High Court of the State

32. The term of a State Chief Information Commissioner is

(a) 5 years or upto 65 years (b) 5 years or upto 70 years
(c) 6 years or upto 65 years (d) 6 years or upto 70 years
33. Which Article of the Indian Constitution makes provisions for the tenure of a Panchayat ?
(a) 241 (b) 242 (c) 243 (d) 244
34. Which Chief Minister of Uttarakhand reserved 50% seats in Panchayats for women ?
(a) Ramesh Pokhariyal “Nishank” (b) N.D. Tiwari
(c) Vijaya Bahuguna (d) B.C. Khanduri
35. Which of the following states had the highest per capita income during 2014-15 ?
(a) Chhattisgarh (b) Karnataka (c) Punjab (d) Uttarakhand

36. The maximum number of ministers, including the Chief Minister, can be appointed in the
Uttarakhand Council of Ministers is

(a) 10 by 12 © 11 (d 15
37. Which of the following countries shares the longest international boundary with India ?

(a) China (b) Nepal (c) Bangladesh (d) Pakistan
38. Nokrek Biosphere Reserve is located in

(a) Tamil Nadu (b) Odisha (c) Assam (d) Meghalaya
39. ‘Shola Forest’ is associated to

(a)  South Peninsular Hills (b) West Himalayas

(c) East Himalayas (d) Tidal Forest
40. Which state in India is the largest producer of Copper ?

(a) Jharkhand (b) Bihar (c) Madhya Pradesh (d) Rajasthan
41. “Dolvi” steel plant is located in

(a) Tamil Nadu (b) Maharashtra (¢) Odisha (d) Karnataka
42. “Jhum Cultivation” is also called as

(a) Dairy farming (b) Sericulture

(¢) Fish culture (d)  Shifting cultivation
43. On which river Hirakund dam is built ?

(a) Godavari (b) Mahanadi (c) Pennar (d) Damodar
44. Which of the following Indian states lies partially in Himalayas and partially in plains ?

(a) Himachal Pradesh (b) Arunachal Pradesh

(¢) Sikkim (d) Uttarakhand
45. In India common property resources are covered under whose ownership ?

(a) Private (b) Village (c) State (d) District

46. FL-2 policy is related to
(a) The forest policy of Uttarakhand
(b) The family planning policy of Uttarakhand
(c) The liquor policy of Uttarakhand
(d) None of the above
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47. In which year Razia Sultan become the Ruler ?
(a) 1236 AD (b) 1240 AD (c) 1266 AD (d) 1210 AD

48. Who introduced the ‘Mansabdari’ system ?
(a)  Sher Shah (b) Alauddin Khalji (¢c) Aurangzeb (d) Akbar

49. Which of the following treaty ended the first Anglo-Maratha War ?

(a) Treaty of Surat (b) Treaty of Manglore

(c) Treaty of Salbai (d) Treaty of Amritsar
50. Which Governor General abolished ‘Thagi’ in India ?

(a)  Sir John Shore (b) Lord Wellesley

(c) Lord William Bentinck (d) Lord Mayo
51. In which year the Government Postal Service was introduced in India ?

(a) 1853 AD (b) 1854 AD (c) 1855 AD (d) 1856 AD
52. From which book our national song “Vande Matram” has been taken ?

(a) Anand Math (b) Neel Darpan (¢) Geetanjali (d) Satyarth Prakash
53. Who among the following had propounded the theory of ‘Drain of Wealth’ ?

(a) Surendranath Banarjee (b)  Gopal Krishna Gokhale

(c) Firoz Shah Mehta (d) Dadabhai Naoroji

54. What does “Tri-Ratna” indicate in Buddhism ?
(a)  Truth, Non-violence, Mercy
(b) Love, Compassion, Forgiveness
(c) Buddha, Dhamma, Sangha
(d) Vinay Pitaka, Sutta Pitak, Abhidhamma Pitak
55. What was the original name of Begum Mumtaz Mahal ?
(a) Mehrunnisa (b) Gulbadan Bano (c) Raushan Aara (d) Arzumand Bano

56. Who was the first speaker of Lok Sabha ?
(a) Hukum Singh (b) M.A. Ayyangar (c¢) G.V.Mavalankar(d) G.M.C. Balyogi

57. Which Article of the Constitution of India is directly applicable on Jammu and Kashmir ?
(a) Article371 (b) Aurticle 370 (¢) Article 375 (d) Article 376

58. Which Amendment has been called a revision of the Constitution of India ?

(a) 40" (b) 41" (c) 42" (d) 43
59. According to Dr. Ambedkar, which Article is the soul of Indian Constitution ?

(a 29 (b) 31 (c) 32 (d) 352
60. Windows is an example of which of the following ?

(a) Operating System (b) Hardware

(c) Active Desktop (d) None of the above
61. Which of the following is an Application Software ?

(a) Compiler (b) Operating System

(c) MS-Office (d) None of the above
62. “ROM”isa

(a) Volatile Memory (b) Non-volatile Memory

(c) Secondary Memory (d) None of the above
63. Which of the following is an input device ?

(a) Plotter (b) Printer (c) Monitor (d) Scanner
64. What is the height of the Qutub Minar ?

(@) 100 m (b) 150 m (c) 855m (d 725m
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(@) T11236TH (b) WAI240EH () TAI266TH (d) TII1210% H
TR 7T fha= TR <t 2
(a) IRME (b) ITCMSEMA Tolslt  (c) RS (d) THR
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(a) TARIE (b)) FERHBIAY () ToEEHAE  (d) AW H Gy
TFE TTER ST 5 R | ‘ST oM 31 Tomar 2
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(@) TAI83TH (b) TAIS4TH  (c) TAISSTH  (d) WAI8S6T H
TR TG M ‘T AR b qieh 9 foram man & 2
(a) o< (b)  HireT gUUT (c)  TidSTedt (d) e U
‘O % TR % GSTd B W TREe uiquied et 2
(a) QAT (b) TIPS TEA  (c) [HSRME Bedr  (d)  IQME ARIST
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(a) ¥, 3TfEqn, 741 (b) TH, HTOM, &7
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fore HaruTeh TeNe sl YRAT Tiau™ o1 G Shor el T4 ¢ ?
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ey 1 4 9 forgeht ST e 2
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1 9 9 I T UeAh ATRewR ¢ 2
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(a) droIeEd Wid (b) FF-AcieEe T
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Internet explorer is a

(a) News reader (b)  Graphing package
(c) Web browser (d) None of the above
When was Pradhan Mantri Mudra Yojana launched in India ?

(a) 8 April, 2015 (b) 15 September, 2014
(¢) 1 January, 2015 (d) 1May, 2015

What is the total budgeted amount of Pradhan Mantri Ujjwala Yojana ?
(@) 4,000 Crore (b) T5,500Crore (c¢) T7,000Crore (d) 8,000 Crore

What is the estimated fiscal deficit of India in the Budget of 2016-17 ?

(@ 2.1% (b) 42% (c) 3.5% (d 4.8%
Which castes of Uttarakhand were included in the central list of OBC in August, 2015 ?
(a)  Aheria, Ranwaulta, Arakh (b) Kahar and Tanwar Singharia

(c) Bairagi, Goswami, Darugar (d) Banjara, Bhand, Bari

During which of the following years, India recorded lowest foodgrain productions ?
(a) 2014-15 (b)y 2013-14 (c) 2012-13 (d) 2009 -10
What is the premium amount for Prime Minister Suraksha Bima Yojana (PMSBY) ?
(a) 100 per month (b) X 100 per year

(c) R 12 per year (d) 12 per month

The Indian State through which Tropic of Cancer does not pass in

(a) QGujarat (b) Odisha (c) Jharkhand (d) Tripura
What was the value of Human Development Index (HDI) for India in 2014 ?

(a) 0.538 (b) 0.570 (c) 0.609 (d) 0.666

Which of the following is a page printer that produces high quality output by forming
characters and images with tiny ink particles ?

(a) Inkjet Printer (b) Laser Printer

(c) Dot-Matrix Printer (d) None of the above

Which of the following is an antivirus software ?

(a) JAVA (b) Tally

(c) Norton (d) None of the above

Under which Act, Supreme Court was established in India by the British rule ?

(a) Regulating Act (b) Pitt’s Act

(c) 1813 Act (d) 1833 Act

Who is the author of the novel (book) “Tumhare Liye” ?

(a)  Shivani (b)  Shailesh Matiyani

(c) Manohar Shyam Joshi (d) Himanshu Joshi

23" Rajiv Gandhi Sadbhavna Award in 2016 has been given to

(a) Shabana Azmi (b)  Shubha Mudgal

(c) Shobha De (d) Medha Patkar

Which district of Uttarakhand State has its boundary with seven districts of the State ?
(a) Almora (b) Chamoli (c) Pauri (d) Bageshwar

Who is the founder of the “Narmada Bachao Andolan” ?
(@) ArunaRoy (b) Arundhati Roy (c¢) MedhaPatkar (d) Baba Amte

Which river makes a boundary between India and Nepal ?

(a) Saryu (b) Ram Ganga (¢c) Kali (d) Pindar
Google is a

(a) Search Engine (b) RDBMS Software

(c) Multimedia Software (d) None of the above
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(a) =T UK (b) TR tehst (c) o SIS (d) =99 9 B T
IRA | T T G ISHT hed TS &l T 2

(a) 8 3We, 2015 (b) 15 fHamR, 2014 (¢) 1S, 2015  (d) 1 W%, 2015
T Fl SoSTereT IS bt et Seie 01T febereit & 2

(@) T4000F08 (b) T5500FHAs  (¢) T7,000HTs  (d) T 8,000 FS
T 2016-17 W R o1 foriar =rer fevem eriaa & 2

(@ 2.1% (b)  4.2% () 3.5% d)  4.8%

3= fumgl SNl @ =g &t § STEUE &l o STt bl 37T, 2015 H GiAferd 6
or 2

(a) 3R, e, e (b) TR AR o Rt

(c) SRTT, TRaTHY, IR (d) o, e, SRy

frefaiad § 9 fohd ad IRa | @RI 6 Scaa ~gAaH 41 2

(@) 2014-15 (b) 2013-14 (c) 2012-13 (d)  2009-10

T T GRET ST AT (PMSBY) o Sierid i qieT fevet € 2
(@ TlooudEE (b) ZTlooWE@ad  (¢) T 12WAaN (d) T 12 ufadE

T IR T T8 g1 ek 1T &l ol & -

(a) TR (b)  3iifeen (c) wREUS d) o

IR T a9 2014 | AHS [Th Gahish (HDI) T T e ot 2

(a) 0.538 (b) 0.570 (c) 0.609 (d) 0.666

7 5 9 M U BT & ST 95 & GeH SRl FHON GRT S/R F SMF SR e Jora
3TMILTYE 3T ¢ 2 . :
(@) Feielir (b)) @R () TRHFEHR (d) THIFE T
=1 4 @ M ufearry dueaaT € 2 ‘ .
(a) ST (b) et (c) e (d) =99 9 T
ey sttt < afeniel el # Gelres =rarer = wT fsfewn yma g &t g off 2

(a) Yol e (aTfutam) (b) Tew TR

(c) 1813 T (d) 1833 TR

‘TN o138 SU=Tg (&) o THEAT HiF € 2
(a) Tom@mr (b) Vel EfleIEt () TR W@ESST  (d)  fewi shen

T 2016 T 233 TSt T FIHATSHT TaTS YT feham T &

(a) AT SIS (b) T U (c) IMTS (d) HuT U
TGS T o [ohd SIS I HHT 5T & G STIS] o 9T & 2
(a) 3THIET (b) =HIA (c) el (d) SR

“TURT TS — SR T G HiT & 2
(a) oTEUT T (b) oTHUdr T (c) Tl UEHT (d) e 3

qRA 3T et & 7eF i G ol HET st & 2

(a) TI (b) T T (c) el (d) fo=T
TTeT & T
(a) I M (b) ST .TH.UY. HHeaR
(c) WiceHitean Hireaay (d) T F P T
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83.

84.

85S.

86.

87.

88.

89.

90.

91.

92.

93.

9.

9s.

96.

97.

98.

99.

100.

Which vitamin is essential for blood coagulation ?
(@ E (b) D (© K (d C

Plants that grow in saline water are called
(a) Hydrophytes (b) Mesophytes (c) Halophytes (d) Thallophytes

“Biotechnology Institute” is situated at
(a) Almora (b) Dehradun (c)  Srinagar (d) Pantnagar

Which among the following is ‘muscle’ protein ?
(a) Myosin (b) Keratin (c) Lysozyme (d) Heme

Which of the following waves cannot be polarised ?
(a) Sound Waves (b) Radio Waves (c) Ultraviolet Rays (d) X-Rays

Rh-factor derives its name from

(a) Bat (b) Rhesus Monkey (c) Rhino (d) Rat

A satellite is used for

(a) Communication (b) Weather forecasting

(c) Agriculture and forestry (d) All the above

‘Marsh Gas’ is

(a) Methane (b) Ethane (c) Propane (d) Butane
Sequencing of ‘human genome’ was successfully done in the year

(a) 1995 AD (b) 2001 AD (c) 2010 AD (d) 2015 AD
D.N.A. does not contain

(a) Guanine (b) Adenine (¢) Uracil (d) None of these
In 2016 which became the first European country to win Thomas Cup ?

(a) Sweden (b) Britain (¢) Denmark (d) Holland
Which has become the first country in the world to ban deforestation ?

(a) Brazil (b) India (c) Kenya (d) Norway

China is looked in dispute with Philippines and Vietnam over control of which territory in
South China sea ?

(a) Natuna Islands (b) Pratas Islands

(c) Spratly Island Chain (d) Taiwan

Which State has become the first digital State of the country ?

(a) Sikkim (b) Gujarat (c) Kerala (d) Karnataka

Who is the author of the book “Editor Unplugged : Media Magnates, Netas and Me” ?
(@) Vinod Mehta (b) S. Nihal Singh (c) Inder Malhotra (d) Kuldip Nayyar

Which film was chosen as the best film at 63" National Film Awards festival ?

(a) Bajirao Mastani (b) Dum Laga Ke Haisa

(c) Bahubali (d) Mary Kom

‘Bharatiya Jnanpith’ award (2015) has been awarded to

(a) Raghuveer Chaudhary (b) Bhalchandra Nemade

(c) Kedarnath Singh (d) Pratibha Rai

Insulin hormone is secreted by which of the following organ ?

(a) Kidney (b) Heart (c) Liver (d) Pancreas
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T BT T (TheT) S & i AT feeIfi STewas & 2

(@ % (b) c & d =
AT ST H I et did AT &

(a) FEGEREH  (b) HEEH (c) EeliTeed (d) ez
(a) oremErH (b) TEGAH (c) SFRH (d) YR H
et § 9 i 91 HiEushE wed € 2

(a) e (b) feRdfe (c) EHSTEA d) @m
frfetad o | fob T i el Tel f6ar ST Fepell 2

(a) = T (b) e &t (c) TR foRor (d)  weRd-feReol
‘SR, HFe T H MUR &

(a) wHTEE (b) g T (c) e d) @

T SUUE T SYANT el &

(a) A& (b) TG i@ &q

(c) T U At & (d) ST et o o

R INEIE

(a) oA (b) & (c) W d) e
HFE S ST STIERAT AheTdTgash o T ay

(@ TI11995T H (b) WA2001EH  (c) TA2010TH (d) TI2015%
ST § &l A S

(a) TSTHIA (b) TSN (c) Tae (d) T FE T
2016 § &THF T ST STeT i Tgell JIAAT 9T I 74T 2

(a) WeA (b) fae= (c) TTHEH (d) s

T B HeTe T U TR AT 37T BT el 397 i 5 77 € 2

(a) SIStrer (b) 9Rd (c) = (d =
?waﬁm#wﬁﬁmaﬁ%ﬁﬁmﬁﬁwfwﬁﬁmaﬁrm%wﬁaﬁww
0

(a) FTEM (b) ¥ETE (c) Uil 51 sfwen (d)  ArEeE
I AT ST 330 T GgeT “feforeet T s T g 2

(a) Tafery (b) TRE (c) e (d) S
‘TN TS : HiTAT T, AT T0E HY T & 1@ DA ¢ 2

(a) foAE#er (b)) wH.FEE @ (c) TR Hee (d) FoRMT T
639 LT fhed EehR THRIE | 69 fthed i gasie fhew A1 T 2

(a) IR Gl (b) THGETHEEA (c)  Tgeel (d) T HY
‘IR A’ &R (2015) Taam mar &

(a) TEEAR AN ® (b) WTHx TAEH () HERAE e R (d) Ui T R
ffefaa o ¥ o 37 g1 Sgfe & Sfad &idr § 2

(@) T (b) & () =Pa d) eT=ERE
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101.

102.

103.

104.

10s.

106.

107.

108.

109.

110.

111.

112.

113.

PART - 11
GENERAL APTITUDE TEST

Eight children take part in a tournament. Each one has to play every other one. How many
games must they play ?
(a) 56 (b) 28 (c) 80 d 112

A hall had 500 seats initially. After reconstruction, the total number of seats became 10%
less, the number of rows were reduced by 5, but the number of seats in each row was

increased by 5. How many rows and how many seats in a row were there initially in the
hall ?

(a) 20 rows, 25 seats (b) 50 rows, 10 seats

(¢) 10 rows, 50 seats (d) None of these

The difference of 10% — 7 and 10%* + x is divisible by 3 for x = ?

(@ 7 (b) 4 () 3 (d 2

The sum of first 23 odd numbers will be

(a) 276 (b) 529 (c) 1081 (d) None of these

A group of 1200 persons consisting of captains and soldiers is travelling in a train. For
every 15 soldiers there is one captain. The number of captains in the group is
(@ 70 (b)y 80 (c) 75 d 85

Two ladies and two men are playing cards and are seated at North, East, South and West
of a table. No lady is facing East, persons sitting opposite to each other are not the same
sex. One man is facing South, which directions are the ladies facing ?

(a) Eastand West(b) South and East (c) North and West (d) North and East
A, B, C, D, E & F are six members of a family. One couple has parents and their children
in the family. A is the son of C and E is the daughter of A. D is the daughter of F who is
mother of E. Who are the male members in the family ?

(a) AandC (b) AandD

(c) AandB (d) Cannot be determined
Which number will replace (?) in the following sequence ?

4,23, 60, 121, ?

(a) 212 (b) 242 (c) 221 (d) 241

Rahul says “If Vijay gives me ¥ 40, he will have half as much as Atul, but if Atul gives
me < 40, then the three of us will have the same amount.” What is the total amount of
money that Rahul, Vijay and Atul have ?

(a) 240 (b) <280 (c) 360 (d) 420

A rope by which a cow is tethered is increased from 12 m to 23 m. How much additional
ground has it to graze over ?

(@ 363.17m?> (b) 385m? () 1210 m? (d) 1650 m?

Mohini went to the movie nine days ago. She goes to the movies only on Wednesday,
what day of the week is today ?

(@) Tuesday (b) Friday (c) Saturday (d) Monday

How many triangles are there in the following figure ?

@ 9 (b) 10 (c) 12 (d) None of these
10% of 10% of 50% of 1000 is
(@ 5 (b)y 10 (c) 50 (d 100
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102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

SRA

T - 11

T gheg uteTor
TS F=0 T ZATHE H | oIt & | Tcdsh ol 8 Ush o |1 W1 & | S8I- He (ol 719 Ter 2
(a) 56 (b) 28 (c) 80 (d 112

3T | T 8t | 500 HiS of, AT o a5 |l &l FoT &A1 10% FH & T2 | Ui &l
T 5 T &l TS, W] Uedeh Urek W2l bl TAT 5 9 T &F TS | SRET H &eA § {oheft uferqar of
T HiferT o fefert e off 2

(a) 20 TfRET, 25 T (b) 50 TfeRET, 10 G

(c) 10 dfeat, 50 | (d) T T HIE TEéI

1025 — 7 91 1024 + x 1 31 3 9 foiera e afg x = 2

(@ 7 (b) 4 (0 3 d 2

v 23 oo |t s T e

(@) 276 (b) 529 (c) 1081 (d) T F FHIE Tl

1200 =TT HT T T 00 e 3 (el €, A H I W ® ¢ | T3 15 fauieai ) uh
FETE | G § HEA B T B

(@ 70 (b) 80 (¢ 75 (d 85

3 AfEeATE o I TET A9 Tl @ & 3T A AT B IR, Ya, IR0 of UfveE Hhi AR 9 § | fendlt off
AfEET 1 @ 4 H AR el & | o AR ST TH-GHL 6 G 9 &, TAM (o7 & Tel & | Th To0
T @ A0TSR & | gl o 9@ 6 fqensti 9 § 2

(a) Y@auv=Ed (b) IROTUL (c) IRIUFTH  (d) SWAE

A, B,C, D, E 3R F U INEOR & & ¥ & | UNaR H Ueh W o ATl-TIel o 3% o<d & |
A, CHITATIRE AR AT ID, FH YA &, S HE A A & | IRAR H B T Hi € 2

(@ AdTC (b) ATD (c) ATB (d) T T B GhA |
fretefad o gsha o (?) % TIF W ST 9T TEIT ST 2

4,23, 60, 121, ?

(@) 212 (b) 242 (c) 221 d) 241

TEe = Fel, “AlS foota get T 40 3T &, o 3P UG 1A § 3T TIT &, TfehA Afg 3Tt e
T 40 I €, T & AT o U G T & 17 e, fost 3R STt o U ot o SRR € 2
(a) %240 (b) %280 (c) %360 d) %420

T T S U M G2 W 4 E, B 12 W §gie] 23 T Y A1 T | T S WA & o
3R TRt STTe fhert 2

(@) 363.17#2 (b) 38572 (c) 121072 (d) 16502

Hifett 9 T veet Tttt @ TE | 9% TArad ITH B JHAR i STA § | ST g FH DI
A E?

(a) TR (b) IEFER (c) IMHER (d) HHER
Feretfertiaa ot fobert Freget & 9
(@ 9 (b) 10 © 12 (d) T HE T
1000 =T 50% =T 10% &1 10% &
(@ 5 ®b) 10 (©) 50 @ 100
15 Series-A



114. If the integers 1 to 50 are multiplied, then total number of ‘zeroes’ in the product will be

(@ 5 (b) 50 () 10 d 12

115. The diameter of a cycle wheel is 28 cm. How many revolutions will it make in moving
13.2km ?
(a) 13000 (b) 15000 (c) 17000 (d) 19000

116. In a group of equal number of cows and herdsman, the number of legs was 28 less than
four times the number of heads. The number of herdsman was
(a) 14 (b) 28 () 17 d 15

117. Two numbers are in the ratio of 3:5. If nine is subtracted from the numbers the ratio
becomes 12:23. The numbers are
(a) 30,50 (b)y 42,70 (¢) 36,60 (d) 33,55

118. At present Soni is 4 times older than her son and is 3 years older than her husband. After
3 years the age of her son will be 15 years. The age of Soni’s husband after 5 years will be

(a) 48 (b)y 45 (¢) 50 (d 42
119. Based on the statements given below, find out who is the uncle of ‘P’.

L K is the brother of J. II. Mis the sister of K.

III. P is the brother of N. IV. Nis the daughter of J.

(@ K (b J

(¢c) N (d) Cannot be determined

120. Which number is wrong in the following series ?
42,110, 132, 210, 440, 506
(a) 42 (b) 132 (c) 440 (d) 506

121. In the following figure, ‘B’ represents businessmen, R represents rich men, and H
represents honest men. Which number will represent rich businessmen ?

R
B 3 H
D> s
(@ 5 (b) 3 (© 2 d 4

122. Which of the following does not belong to measure of central tendency ?
Mean Deviation, Arithmetic Mean, Median, Mode

(a) Mean Deviation (b)  Arithmetic Mean
(c) Median (d) Mode
123. The algebraic sum of the deviations from the mean of any set of data is always
(a) Positive (b) Infinite (¢c) Zero (d) Negative

124. The simple interest of a sum of money is equal to the half of the principal and the rate of
interest is equal to half of the number of years. Find the number of years.
(a 6 (b) 10 () 7 d 8

125. If the cost of five pencils and two copies is I 225 and the cost of three copies and four
pencils is ¥ 320, then what is the cost of one pencil ?
(a %5 (b)y %6 (c) R4 d X7
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114. =< 1 ¥ 50 T & YOI HI 7O fFHAT ST, A OGS § T[T i Hol G s

@ 5 (b)y 50 (c) 10 d 12

115. U Triohel & UfeT 1 =319 28 WHL € | 13.2 fom . =om X g8 fha =Iekke ot 2
(a) 13000 (b) 15000 (c) 17000 (d) 19000

116. SRR T H TR SR TETC % U UE B WR{ i T fa)i s G % 9R AT ¥ 28 HH ol |
AT St T o
(a) 14 (b) 28 ) 17 (d 15

117. 3t @A 3:5 % A | & | SR A H 3T FeAsh 7§ § =g 52 S, qr S 12:23 & S
&, F T g
(a) 30,50 (b) 42,70 (c) 36,60 (d) 33,55

118. oo & T O S | =R A g€l § I 0 Ul W 3 o 9l & | 6 9 % 9% 3Tk 9
Mg 15 1o & ey, &t Qi o ufd i 311g 5 o a1% feat g 2

(a) 48 (b) 45 (c) 50 (d 42
119. =9 ST T oMl % SMYR W TE AT ST (6 P’ T ==l i & |
L KI®AEE

II. MK®H I |
M. PN®HYEE |

IV. N J®RIEE
(a K b)) J
() N (d) T=pY & MR ST FeheT |

120. T=ifera SOt 5 hi  H&=A TTeld € 2
42,110, 132, 210, 440, 506
(@) 42 (b) 132 (c) 440 @ 506

121. = U & fo3 §, B =OR SR B, R 94 SARMET B 9A4T H SHMER SR iy
AT S | I Gl AT 9 AR SAETHAT Bl TS 9T S 2
R

B 3 H
D> apd

@@ 5 (b) 3 () 2 (d 4

122. T=fAfEd § @ SiF Ssid Ugid S o719 § &0 3T 2

(a) WEAfggeE (b)) TEFR 9= (c) e (d) FEoH
123. Tl it 3{Tehg! o T 1 37 ared W Tt ol siistia i gd e el &
(a) &FTCHS (b) 3= () I3 (d) RO
124. 3fg fHET &7 1 TTEROT AT Jore T 37T & T AT & T bt ST 1 e &, af ot b
T 1 HIT |
(@) 6 (b) 10 ) 7 @ 8

125. g ot fgel oo g1 it o goor 3 225 € 3 oA il a1 9R grgel & goq 3 320 €, o
T UTeT T HITd FE 2
(@ I5 (b) %6 ) T4 d 7
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126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

Insert the missing number in the following :

13 (70) 22
12 (60) 18
17 (?7) 26
(@ 76 (b) 96 (c) 116 (d 86

In the following question, except one, all are alike in a certain way. Select the pair which
is different from others.

Babar : Mughal

Kanishka : Kushan

Mahavira : Jainism

Chandragupta : Maurya

(a) Chandragupta : Maurya (b) Kanishka : Kushan

(c) Mabhavira : Jainism (d) Babar : Mughal

In a class there are 35 students comprising of boys and girls. In a monthly test, the average
score of the class was 18. The average score of girls and boys of the class was 22 and 15
respectively. Assuming that all the students appeared in the test, what is the number of
boys in the class ?

(a) 18 (b) 15 () 17 d 20

Sohan bought some books one day, four times of them on the next day and eight books on
the third day. In all, he bought 38 books. How many books did he buy the second day ?

(a) 24 (b) 6 (c) 8 (d 16

There are five buses from Nainital to Dehradun and same number of buses from Dehradun
to Nainital. If a man does not want to return to Nainital by the bus in which he went to

Dehradun, in how many ways to and from journey can be performed between Nainital and
Dehradun ?

(@ 24 (b) 20 (c) 16 d 12

Find the missing term in the following series :
B23Y,E17V,H115, ...

(a9 K7P (b) KS5P (c) L8Q d MOR
Which of the following numbers is completely divisible by 45 ?

(a) 181560 (b) 331145 (c) 202860 (d) 3033550
The sum of the interior angles of a regular polygon of 15 sides is

(a) 2340° (b) 1800° (c) 2520° (d) 2160°

A train of length 135 metre is running with a speed of 49 km/hr. In what time it will pass a
man who is walking at 5 km/hr in the direction opposite to that of the train ?

(a) 10sec (b) 9sec (c) Ssec (d) None of these

Three numbers are in the ratio 3:4:6 and their product is 1944. The largest of these
numbers is

(a) 06 by 12 (c) 18 (d 20
If n(A U B) =5, n(B) =3 and n(A) =4, then n(A N B) is equal to
(@ 2 ®) 3 (c) 4 (d 5

The illumination from a source of light varies inversely as the square of the distance. If
initially a book is placed at 10 cm far from a candle, then how much farther a book be
placed so as to receive just half as much light ?

@@ 10(\/2+1)cm () 10(\/2-1) cm
© 10(/3+1)cm @ 5H[2+1)cm
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SRA

frefeiaa den T | faoa e sifed S

13 (70) 22

12 (60) 18

17 () 26

(a) 76 (b) 96 () 116 d) 86

ffetEd uee ®, Uk o 3Tt T, Ush e & qHF € | 39 I 1 9T, ST e J =1 7 |
e {iTeT

ST ; HET0T

TR ; SeH

W:Iﬁﬁ

(a) TSTA:HA  (b) HEASH:FUAT () Te@R ST (d) SR G

T TR § ASh 3R TSiRar ey ot 35 fammet € | ush wifass e o g3 el &1 3fad
Tl 18 o7 | CTEfehdl oo TTgeh o WTwiehl bl 3T ShERT: 22 T 15 o1 | afs ot foemelt 39
TRIeT § QAT U &, o 39 T H TTehi Sl Tl .1 ¢ 2

(a) 18 (b) 15 () 17 d 20

e T o 5 TTeh QIR &, 36l fod S9! aR THT a9 oo &9 8 J&ieh @iRam ¢ | afs
ST ot TR 38 TETeh TRIS, A 38 T o ferait eash et 2

(a) 24 (b) 6 ) 8 d 16

T I IEGT ST % [0 Ui 99 3Ueted & 3R Tl & 9 SeRIgA | AT & fore € 1 3ty
TS 3TEH 37 99 ¥ A-aTel aTqd &l 371 =t & a9 a8 Je308A T4 €, a SHidret 31% 85
% g § fohe el & S-S 1 AT i ST el & 2

(a) 24 (b)y 20 (c) 16 (d 12
fe=AifeRa Sioft <1 foreTwt U= AT I

B23Y,E17V,HI11S, ......

(a K7P (by KS5P (co L8Q (d MOIR
frefatEd & F 9 T 45 9 qoid: g ¢ 2

(a) 181560 (b) 331145 (c) 202860 (d) 3033550
15 T3t aret Ueh Fafia agest o ST SHivT 1 a1 &

(a) 2340° (b) 1800° (c) 2520° (d) 2160°

T 135 HieT ol It 49 ot /ae ol =t ¥ oot @ & | U e 5t i 5 fm i /ae @l
1T T YS! b faui 391 | et @7 &, i Iehme! fha- T99 § IR Y ol 2

(a) 10 Uhs (b) 9 IHT (c) 5Ubs (d) TTH F B &
T T 3:4:6 o U § & 3R AR OAGA 1944 € | T70 T T F€ AR

(@) 06 b) 12 () 18 @ 20
aEn(AUB)=5,nB)=3 AT n(A) =4, T n(A N B) FTAA &

(@) 2 (b) 3 (c 4 d 5

TS USRI BT H U e ool A9 STY T % O & SFhAMI § | g TReT § U Hiee
&I 9 10 IHT T @ &, A 9 el 5T 3R AT Tfen dlfeh Teet & ik el ATHT T & 2

(@ 10(/2+ 1) a4 (b) 10(/2 - 1) @t
© 10([3+1)d= d  5q/2+1) 9
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138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

If5@6=61and 8 @ 10=164,then7 @ 9=7
(@ 125 (by 63 (c) 130 (d 32

Look at this series :

80, 10, 70, 15, 60, .....

What number should come next ?

(@ 20 (b) 25 (c) 30 (d 50

In how many ways, a group of 3 boys and 2 girls can be formed out of the total of 4 boys
and 4 girls ?

(a 15 (b) 16 () 20 d 24

Four mat weavers can weave 4 mats in 4 days. At the same rate, how many mats would be
woven by 8 mat weavers in 8 days ?

(a) 4 (b) 8 (c) 12 (d 16

If white is called blue, blue is called red, red is called yellow, yellow is called green, green

is called black, black is called violet and violet is called orange, what would be the colour
of human blood ?

(a) Red (b) Green (¢) Yellow (d) Violet

Pointing to a gentleman, Shalini said, “His only brother is the father of my son’s father”.
How is the gentleman related to Shalini ?
(a) Grandfather (b) Uncle (c) Brother (d) None of these

A year is starting with Monday and ending with Tuesday. How many days are there from
16" January to 15™ March in that year ?
(a) 58 (b) 60 () 59 d) o1

Three years ago, the difference in the ages of two brothers was two years. The sum of
their present ages will be double in 10 years. What is the present age of the elder brother ?
(a 6 (b) 11 (c) 7 d 9

A cyclist rides 20 km to the East, then turns North and rides 20 km, again turns left and
rides 20 km. How far he is from the starting point ?
(@) Okm (b) 10km (¢c) 20km (d)  30km

Which is greatest in the following ?

\J0.1,3/0.1, /0.1, /0.1
(@ 01 ® o1 © o1 @ o1

What is the remainder when 24! is divided by 7 ?

() 4 (b)) 2

(c) 6 (d) None of the above

When seen through a mirror, a clock shows 8:30, the correct time is

(a) 2:30 (b) 3:30 (c) 8:30 (d) 5:30

In a certain language, ‘MADRAS’ is coded as NBESBT, how is ‘BOMBAY’ coded in
that language ?
(a) DPNCBX (b) CPNCBZ (c) CPNCBY (d) DPNCBZ
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SRA

IFC5@6=61 I8 @10=164, A7 @ 9=2

(a) 125 (b) 63 (c) 130 (d 32
80, 10, 70, 15, 60, ...
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